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Fruit Logic Puzzle @

Four kids are eating lunch on a hot summer’s day. Each has a big glass of water,
a sandwich, and a piece of fruit. Which fruit did each child have?

Apple Banana Orange Grapes
Kelly
Marissa
Dagwood
(&, | Jon

1. Marissa and Kelly have to peel their fruit before eating it.
2. Dagwood doesn't like grapes.
3. Kelly has a napkin to wipe the juice from her fingers.
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Fruit Logic Puzzle Solution

Apple Banana Orange Grapes
Kelly X X 0 X
Marissa X 0 X X
Dagwood 0 X X X
Jon X X X 0




